Seccidén transversal. Espacio estereotdmico. 1/75

N S=é o, B |
\ ANV A A S PN
Sl OSSR T
NI L RASSTy L S
S NSSUAR P SUG J W/ I
B A SR =AY V2 51 S 7\ DS,
& \/\ X‘\ L \(( '///’ R Y& /}\ NS
RS N ¢,
Lo o Sy Qx?w//ykﬁ‘gg LB
2 Do SR 7 f 2\ X\/ji ?ib OX > K7 &2
) % (s Sy

N v

2 /Zfﬁ)i S
SCNPS S
SRS i
7 W
LI SR NS
AR
7))\%//\;)\\ NN

T NS
e %}% P N \\7 -
= )L»&q&Aﬂf -
el

S Il o

Q7 =
Vi

NFSCRO
AN

R

) N
VMR%£§1

RN
RGN
e

4

==

===

I I
T R
AR
o

%WW A

\

Rl

%

7

v

%%é%%
7

CIOlb CI0lc CI0la

Seccidén transversal. Espacio tectdnico. 1/75

CEO1

A

C101d

CI0le

CU02a

CU02b

CIO1lf

CU02c¢

cuo2d cuoz2f

4y
<\/

0%
AR

d

PN JN

\‘1»"“ )

T

Seccién longitudinal. 1/75

e \\/\
NS 2\\
2\,
XA
Qe
v

)L
Ui
i
.

I
/l\
YA

P
{

5

i
\xQ B
N

v

,@
oy

-/

77
\11
-
&
(A
4
J

b

Naget)
|
%

5

&
A

W

C101d

CI0le

CIO1lf

PAO2

L ) g
i fmll) ailmlin
‘ N —  — — . :
&z \M%%;

TR T
T S

777777
22227277

77
V2222222222222

CI02a CI02a

PAVO1b

PAVOla

PAVOlc



